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{7) Calculate the potential difference acrossR, in the circfil
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ANSWER ALL QUESTIONS st 8 S
[ surname , s, ' : T oak Reg, Neg o 0L ‘
‘ Other names =g e R e A Dcpaﬂ ment
S s - - ottt T 1 (14)0
(1} Define potentiél difference between two points in 3 circuit, 3 (15)1
g 1 aen
Bk - . £
(2) A battery pushed 240 coulombs through a circuit in 305. c_‘.glculate the Cuf B | !
it :
(3) Copper wires in houses typically have a diameter of ?bout )
resistance? (Conductivity o for Cu = 5.95% 107(0"}};)
(4) What are the four colour bands of a resistor with re,{i _ S
v b, 3 ? £
(5) An electric heater draws a steady 12A on a 120¥ line. How much does ntcef? per 30 days if it operates 2.0h |}
per day and the electric company charges Hl0.0Gig’gggr kWh : - R

(6) Two cails which are close together have a mutual indt ctance of 230 he emf in coil 1is 100V, whatis

the rate of change of the current in cgil 2 %
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{13) Using the superposition theorem, find the current through the 20 resistor in the fifctitbelow __—

20 A < a0 N 0
-z ) ~ ) : "’__'
i : nv , §t @\ W \® Q
};!}: e ey ",. " ﬂ
: ; fFe = ‘*i : P
{14) When maximum power transfer is achieved, efficiencyis - kN . 3 z L
(15) In Thevenin’s theorem, 3 dc network can be replaced bFn equivalel;!tc:rcmt ansnstmg e : m
h -
(16)The three resistances 3002, 200 and 12Q) are stathconnecteﬂ:}s shown below. Convert the star connectton‘ ’
delta connection f 9 Y l
1 % R Qat-:"“u
2 300 : {
126 e T & B
N gy :
3 e g3
).I o
(17) Deduce ’(he Nm‘ton s equivalent between terminals A and B from the cjregiteelow
PEREISINEER (F, | SRR A
> h; : 44)

24\ 18 Q < 8’0
£54
R

(18) A resistive Ioad RL draws the maximum power fgom @ 24V, 4Q voltage source. The value of this maxi

power is
(19) Define the root r‘nean square {rms) value of amalternating quantity

(20) The average value of an aitematin@@i 20V. Calculate the root mean square (rms) value af

voltage _
(21) If the equation of an alternatin ge is given by e = 505in2wt, what is the frequmw 2

(22) What is the equation of a S0Hz current sine wave having an rms value of 60A
(23) State the difference between a leading and a lagging alternating quantity
{24) An alternating current is given by the expression i(t) = 30Sin(157t+m/3), @‘W‘B‘WW
(25) An ac voltage of 50Hz frequency has a peak value of 100V. Find the werage value of
(26) A 30uF capacitor is connected across a 400V, 50Hz supply, 633 ul t
(27) State the condition for series resonance
(28} An RLC circuit consists of a resistance of 100Q animiuﬁme
voltage of 100V is applied across the combination, find the |
(29) A resistance of 50Q, an inductance of 0.1
100V, 50Hz supply. Calculate the current
(30) A current 1 =1, mm flows in

average power d
(31) When ia the
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) The poterdial difference bebweantwo | T) From KCL , Ty = T+ Tat Lo
in & circuwt is the Ce. in MI«'I‘F(I ‘f"Is)
Petential energy Rer unit: chargp betwan| ~ ||-(1+1)*~5H
the two points - Vi= LR = Sx!bm = 50KV
2 Geven Q= MOC ,t= 308 8) “1R
=B S
N N AT
o0 4 TRhaT g A TR
SERER, L Ex= 80T, +1HI1, |
R=202, d= 26mm=0:0028m P= &= oo o Ea= 30(-08626) 1 41((-7a70)= G618V
A TP g i | T epahdefgn,
B ~ 20 Tyt 24T, ~E,=0
S Le 2XAMTE o pen iy, | E ORI TY }
Eaoxel)” = | e'= @hbosen)tal@asteo)= S0y
Heatg ko = 2t 8RN T B, 24

st digit - B = Orey

20d digit - 2 = Redl
Multiplier-x10* = Orange
Notice that 2.2 i< (0% of 82, dhere
teleronce of 10% = Sile
Thuts the four colour
Grey, Red, Dromg@yS
I""“IQPS',\;:I-QDV; .
Po V=124 120 = |44
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F at\‘ﬁe because they are. in

AL fhe mwm hwe the same

el

T

,Lunmt acxess resistor = % ‘_‘%’:.‘Zﬂ =Z;I=Y
| <H )
Curvedt ocross inductr T, =¥ = V| £ RM@TYY = j3'5=+mxsw)
Ko 2L | 723610
IL = (OO - . v =_\é!\_= 156 - O-H449
m 24 =% Se o-4h
(zn;c I 2'1‘.)5 =

—
-

|O
(— ) = 242
)(SDMCUI(‘O
I = 3142A
Paw: L\ = ,IZWZ“ LtJR’-# »

v = Iow REQOFD? = 12 [REF R

from the guestien | ws 3TV, Lv=1%

= - fay = "SW-SSxIO‘)Q% (3"7'71<34}5&00—3 P
Esw . 437%,_"\):

T‘)fs ts Ud'\U) D\=:JX1_ =0

beaausse Z= R+ (X, - X.)
Substduting R= jX <0

7 = —J¥ which T purely

|Recall ¢ = €, sin(wtsd) = Ea Eas

: s)z 1Za= Z.Z2 - (©+J3)(8136)

. N1OL 30”2 (13 )1osin (27§t +3o)
10£30°= |56-6 Sin(100Tt 430)

g’a Pw‘fthT:—*COS¢=CDS(‘32)
' Pmmrchtbr- 0-85

Z""za |0+J5+‘3+J6
Zo=rZNZa =H5+)2:8|
I=V. = _200 _ =(292-3j2D
Za 45+j28 (5 J )A

Ceﬂ\.a—’hnﬂ T +o pelow form,
(32-J20)A = 2774 -32°

Thus the phase ¢ = - 32
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